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•••• Ñi;k tk¡p dj ysa fd bl iz'u&i= esa eqfnzr i`"B 16 rFkk iz'u 38 gSaA  
 Please make sure that the printed pages in this question paper are 16 in number 

and it contains  38 questions. 

•••• iz'u&i= esa nkfgus gkFk dh vksj fn;s x;s dksM uEcjdksM uEcjdksM uEcjdksM uEcj dks Nk= mÙkj&iqfLrdk ds eq[;&i`"B ij fy[ksaA 
 The Code No. on the right side of the question paper should be written by the 

candidate on the front page of the answer-book. 

•••• Ñi;k iz'u dk mÙkj fy[kuk 'kq: djus ls igys] iz'u dk Øekad vo'; fy[ksaA 
 Before beginning to answer a question, its Serial Number must be written. 

•••• mÙkj&iqfLrdk ds chp esa [kkyh iUuk@iUus u NksMsa+A 
 Don’t leave blank page/pages in your answer-book. 

•••• mÙkj&iqfLrdk ds vfrfjDr dksbZ vU; 'khV ugha feysxhA vr% vko';drkuqlkj gh fy[ksa vkSj fy[kk mÙkj u 
dkVsaA 

 Except answer-book, no extra sheet will be given. Write to the point and do not 

strike the written answer. 
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•••• ijh{kkFkhZ viuk jksy ua0 iz'u&i= ij vo'; fy[ksaA jksy ua0 ds vfrfjDr iz'u&i= ij vU; dqN Hkh u 
fy[ksa vkSj oSdfYid iz'uksa ds mÙkjksa ij fdlh izdkj dk fu'kku u yxk,¡A  

 Candidates must write their Roll No. on the question paper. Except Roll No. do not 

write anything on question paper and don't make any mark on answers of objective 

type questions. 

•••• d`i;k iz'uksa ds mÙkj nsus lss iwoZ ;g lqfuf'pr dj ysa fd iz'u&i= iw.kZ o lgh gS] ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl 
lEcU/k elEcU/k elEcU/k elEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAsa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAsa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAsa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkA    

 Before answering the questions, ensure that you have been supplied the correct and 

complete question paper, no claim in this regard, will be entertained after 

examination. 

lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %    
General Instructions : 

 (i) bl ç'u-i= esa dqy    38    ç'u gSa] tksfd    ik¡p ik¡p ik¡p ik¡p [k.Mksa %    vvvv]    cccc]    llll]    n n n n ,oa    ;;;;    esa ck¡Vs x, gSa %    
  This question-paper consists of 38 questions in total which are divided into 

five Sections : A, B, C, D & E. 

  [k.M[k.M[k.M[k.M–vvvv % bl [k.M esa 1 ls 20 rd dqy chlchlchlchl oLrqfu"B ç'u gSa] ftuesa ls 10 cgqfodYih;] 4 
,d 'kCnh; mÙkj okys] 4 fjDr LFkku Hkjsa/lR;-vlR; ,oa 2 vfHkdFku-dkj.k okys ç'u gSaA çR;sd 
ç'u 1 vad dk gSA 

  Section–A : This section consists of twenty questions from 1 to 20 out of 

which 10 are MCQ, 4 one word answer, 4 fill in the blanks/true false and 2 

Assertion-Reason based questions. Each question carries 1 mark. 

  [k.M[k.M[k.M[k.M–cccc % bl [k.M esa 21 ls 25 rd dqy ik¡pik¡pik¡pik¡p ç'u gSaA çR;sd ç'u 2 vad dk gSA 
  Section–B : This section consists of five questions from 21 to 25. Each 

question carries 2 marks. 

  [k.M[k.M[k.M[k.M–llll % bl [k.M esa 26 ls 31 rd dqy N%N%N%N% ç'u gSaA çR;sd ç'u 3 vad dk gSA 
  Section–C : This section consists of six questions from 26 to 31. Each 

question carries 3 marks. 
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  [k.M[k.M[k.M[k.M–nnnn % bl [k.M esa 32 ls 35 rd dqy pkjpkjpkjpkj ç'u gSaA çR;sd ç'u 5 vad dk gSA 
  Section–D : This section consists of four questions from 32 to 35. Each 

question carries 5 marks. 

  [k.M[k.M[k.M[k.M–;;;; % bl [k.M esa 36 ls 38 rd dqy rhurhurhurhu dsl vk/kkfjr ç'u gSaA çR;sd ç'u 4 vad dk 
gSA 

  Section–E : This section consists of three case based questions from 36 to 

38. Each question carries 4 marks. 

 (ii) lHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaA    

  All questions are compulsory. 

 (iii) dqN ç'uksa esa vkarfjd p;u dk fodYi fn;k x;k gS] muesa ls dsoy ,d,d,d,d gh ç'u dks pquuk gSA 

  There are some questions where internal choice has been provided. Choose 

only one of them. 

 (iv) dSy~D;wysVj ds ç;ksx dh vuqefr ughaughaughaugha gSA 

  Use of Calculator is not permitted. 

[k.M[k.M[k.M[k.M    – vvvv    

SECTION – A    

¼oLrqfu"B ç'u½¼oLrqfu"B ç'u½¼oLrqfu"B ç'u½¼oLrqfu"B ç'u½    

(Objective Type Questions) 

  1. 12, 15, 21 iw.kk±dksa dk HCF gS % 1 

 (A) 12 (B) 5 

 (C) 3 (D) 7 
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 HCF of the integers 12, 15, 21 is : 

 (A) 12 (B) 5 

 (C) 3 (D) 7 

  2. 0.375 dks ifjes; ds :i esa fyf[k,A 1 

 Write in rational form 0.375. 

  3. f}?kkr cgqin 1072
++ xx  ds 'kwU;d gSa % 1 

 (A) 2, 5 (B) −2, −5 

 (C) −2, 5 (D) 2, −5 

 The zeroes of the quadratic polynomial 1072
++ xx  are : 

 (A) 2, 5 (B) −2, −5 

 (C) −2, 5 (D) 2, −5 

  4. s = 9, t = 6 lehdj.k s − t = 3, 6
23

=+
ts

 ds eku gSaA ¼lR;¼lR;¼lR;¼lR;/vlR;½vlR;½vlR;½vlR;½    1 

 s − t = 3, 6
23

=+
ts

, the value of s = 9, t = 6. (True/False) 

  5. f}?kkr lehdj.k 026 2
=−− xx  ds ewy gSa % 1 

 (A) 
2

1
,

3

1
−  (B) 

2

1
,

3

2  

 (C) 
2

1
,

3

2
−  (D) 

2

1
,

3

2
−  

 The roots of the quadratic equation 026 2
=−− xx are : 

 (A) 
2

1
,

3

1
−  (B) 

2

1
,

3

2  

 (C) 
2

1
,

3

2
−  (D) 

2

1
,

3

2
−  
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  6. fjDr LFkku Hkjsa %fjDr LFkku Hkjsa %fjDr LFkku Hkjsa %fjDr LFkku Hkjsa % 1 

 2, 
2

5
, 3, 

2

7
, …. A. P. dk lkoZvarj ---------- gSA 

 Fill in the blanks : 

 The common difference of A. P. : 2, 
2

5
, 3, 

2

7
, …. is …………. . 

  7. 2, 7, 12, ……….. A. P. dk 10ok¡ in gS % 1 
 (A) 47 (B) 45 

 (C) 48 (D) buesa ls dksbZ ugha 

 The 10th term of A. P. : 2, 7, 12, ……… is : 

 (A) 47 (B) 45 

 (C) 48 (D) None of these 

  8. ,d f}?kkr cgqin Kkr dhft,] ftlds 'kwU;dksa dk ;ksx rFkk xq.kuQy Øe'k% −3 vkSj 2 gSaA 1 

 The sum and product of zeroes of quadratic polynomial are −3 and 2 

respectively, find the quadratic polynomial. 

  9. f}?kkr lehdj.k 0342 2
=+− xx  dk fofoDrdj dk eku gS % 1 

 (A) 8 (B) 16 
 (C) −12 (D) −8 

 The discriminant of quadratic equation 0342 2
=+− xx is : 

 (A) 8 (B) 16 
 (C) −12 (D) −8 

10. fjDr LFkku fjDr LFkku fjDr LFkku fjDr LFkku Hkjsa %Hkjsa %Hkjsa %Hkjsa % 1 

 nks fcUnqvksa (2, 3) vkSj (4, 1) ds chp dh nwjh ------------ gSA 
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 Fill in the blanks : 

 The distance between two points (2, 3) and (4, 1) is ……………. . 

11. ml fcUnq ds funsZ'kkad tks fcUnqvksa (4, −3) vkSj (8, 5) dks tksM+us okys js[kk[k.M dks vkUrfjd :i ls   
3 : 1 ds vuqikr esa foHkkftr djrk gS] gSa % 1 

 (A) (7, 3) (B) (3, 7) 
 (C) (−7, 3) (D) buesa ls dksbZ ugha 
 The coordinates of the point which divides the line segment joining the points  

(4, −3) and (8, 5) in the ratio 3 : 1 internally : 

 (A) (7, 3) (B) (3, 7) 
 (C) (−7, 3) (D) None of these 

12. (−4, 5) fcUnq f}rh; ikn (second quadrant) esa fLFkr gSA ¼lR;¼lR;¼lR;¼lR;/vlR;½vlR;½vlR;½vlR;½  1 

 The point (−4, 5) lie in the second quadrant. (True/False) 

13. 
°+

°

30tan1

30tan2
2

 dk eku gS % 1 

 (A) tan 60° (B) sin 60° 

 (C) cos 60° (D) buesa ls dksbZ ugha 

 The value of 
°+

°

30tan1

30tan2
2

 is : 

 (A) tan 60° (B) sin 60° 
 (C) cos 60° (D) None of these 

14. f=T;k R okys o`Ùk ds ml f=T;[k.M dk {ks=Qy dk lw= fyf[k, ftldk dks.k p° gSA 1 

 Write the formula for the area of a sector of angle p° of the circle with radius R. 
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15. ,d FkSys esa ,d yky xsan] ,d uhyh xsan vkSj ,d ihyh xsan gS rFkk lHkh xsansa ,d gh lkbt dh gSaA Ñfrdk 
fcuk FkSys ds vUnj >k¡ds] blesa ls ,d xsan fudkyrh gSA ihyh xsan fudkyus dh çkf;drk gS % 1 

 (A) 
3

2
 (B) −

3

2  

 (C) 
3

1
 (D) 

2

3
 

 A bag contains a red ball, a blue ball and a yellow ball, all the balls being of the 

same size. Kritika takes out a ball from the bag without looking into it. The 

probability that the yellow ball is : 

 (A) 
3

2
 (B) −

3

2  

 (C) 
3

1
 (D) 

2

3
 

16. ,d ckWDl esa 3 uhys] 2 lQsn vkSj 4 yky daps gSaA ;fn bl ckWDl esa ls ,d dapk ;kn`PN;k fudkyk tkrk 
gS] rks blds lQsn gksus dh çkf;drk D;k gksxh \  1 

 A box contains 3 blue, 2 white and 4 red marbles. If a marble is drawn at 

random from the box, what is the probability that it will be white ? 

17. fuEufyf[kr esa ls dkSu-lh la[;k fdlh ?kVuk dh çkf;drk ughaughaughaugha gks ldrh \ 1 

 (A) 0.7 (B) 15% 

 (C) −1.5 (D) 
3

2
 

 Which of the following cannot be the probability of an event ? 

 (A) 0.7 (B) 15% 

 (C) −1.5 (D) 
3

2
 

18. ,d o`Ùk dh f=T;k R gS] o`Ùk dh ifjf/k gS % 1 

 (A) 24 Rπ  (B) 2πR 
 (C) 3πR (D) 32 Rπ  
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 R is the radius of the circle, circumference of a circle is : 

 (A) 24 Rπ  (B) 2πR 

 (C) 3πR (D) 32 Rπ  

 vfHkdFku ,oa dkj.k vfHkdFku ,oa dkj.k vfHkdFku ,oa dkj.k vfHkdFku ,oa dkj.k vk/kkfjr vk/kkfjr vk/kkfjr vk/kkfjr ç'u %ç'u %ç'u %ç'u %    
 fuEufyf[kr ç'uksa (19 o 20) esa nksnksnksnks dFku gS % vfHkdFku vfHkdFku vfHkdFku vfHkdFku (A) vkSj dkj.kdkj.kdkj.kdkj.k    (R), dFkuksa dks i<+dj mlds 

uhps fn;s x;s fodYiksa esa ls lghlghlghlgh fodYi dk p;u dhft, % 

 Assertion & Reason based questions : 

 In the following questions, (19 & 20) there are two statements : Assertion (A) 

and Reason (R), read the statements and choose the correct options given 

below : 

19. vfHkdFkuvfHkdFkuvfHkdFkuvfHkdFku (A) : H.C.F. (6, 20) × L. C. M. (6, 20) = 6 × 20 1 

 dkj.kdkj.kdkj.kdkj.k (R) : H.C.F. (a, b) × L. C. M. (a, b) = a × b  

 fodYi %fodYi %fodYi %fodYi %    
 (A) vfHkdFku (A) o dkj.k (R) nksuksa lgh gSa] rFkk dkj.k (R), vfHkdFku (A) dh lgh O;k[;k gSA 
 (B) vfHkdFku (A) o dkj.k (R) nksuksa lgh gSa] ysfdu dkj.k (R), vfHkdFku (A) dh lgh O;k[;k ugha gSA 
 (C) vfHkdFku (A) lgh gS] fdUrq dkj.k (R) xyr gSA 
 (D) vfHkdFku (A) xyr gS] fdUrq dkj.k (R) lgh gSA 
 Assertion (A) : H.C.F. (6, 20) × L. C. M. (6, 20) = 6 × 20 

 Reason (R) : H.C.F. (a, b) × L. C. M. (a, b) = a × b 

 Options : 

 (A) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct 

explanation of Assertion (A). 

 (B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the 

correct explanation of Assertion (A). 

 (C) Assertion (A) is true, but Reason (R) is false. 

 (D) Assertion (A) is false, but Reason (R) is true. 
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20. vfHkdFkuvfHkdFkuvfHkdFkuvfHkdFku (A) : csyu dk vk;ru 6160 3cm  gS] ftlds vk/kkj dh f=T;k 14 cm vkSj Å¡pkbZ         
10 cm gSA 1 

 dkj.kdkj.kdkj.kdkj.k (R) : csyu dk vk;ru hr 2π= . 

    fodYi %fodYi %fodYi %fodYi %    

 (A) vfHkdFku (A) o dkj.k (R) nksuksa lgh gSa rFkk dkj.k (R), vfHkdFku (A) dh lgh O;k[;k gSA 

 (B) vfHkdFku (A) o dkj.k (R) nksuksa lgh gSa] ysfdu dkj.k (R), vfHkdFku (A) dh lgh O;k[;k ugha gSA 

 (C) vfHkdFku (A) lgh gS] fdUrq dkj.k (R) xyr gSA 

 (D) vfHkdFku (A) xyr gS] fdUrq dkj.k (R) lgh gSA 

 Assertion (A) : Volume of cylinder is 6160 3cm , whose radius of base of cylinder 

is 14 cm and height is 10 cm. 

 Reason (R) : Volume of cylinder hr 2π= . 

 Option : 

 (A) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct 

explanation of Assertion (A). 

 (B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the 

correct explanation of Assertion (A). 

 (C) Assertion (A) is true, but Reason (R) is false. 

 (D) Assertion (A) is false, but Reason (R) is true 

[k.M[k.M[k.M[k.M    – cccc    
SECTION – B 

21. 135 vkSj 225 dk H. C. F. ;wfDyM foHkktu ,YxksfjFe dk ç;ksx djds Kkr dhft,A 2 

 Find the HCF of 135 and 225 by the use of Euclid's division algorithm. 
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22. p(x) dks g(x) ls Hkkx nsus ij HkkxQy rFkk 'ks"kQy Kkr dhft, % 2 

353)( 23
−+−= xxxxp , 2)( 2

−= xxg  

 Divide the polynomial p(x) by the polynomial g(x) and find the quotient and 

remainder : 

353)( 23
−+−= xxxxp , 2)( 2

−= xxg  

23. fuEu f}?kkr lehdj.k ds ewy] ;fn mudk vfLrRo gks] rks f}?kkrh lw= dk mi;ksx djds Kkr dhft, % 2 

0253 2
=+− xx  

 Find the roots of the following quadratic equation, if exists, using the quadratic 

formula : 

0253 2
=+− xx  

24. f=Hkqt dk {ks=Qy Kkr dhft,]] ftlds 'kh"kZ fcUnq (1, −1), (−4, 6) vkSj (−3, −5) gSaA 2 

 Find the area of a triangle, whose vertices are (1, −1), (−4, 6) and (−3, −5).  

vFkokvFkokvFkokvFkok    

OR 

 x-v{k ij og fcUnq Kkr dhft,] tks fcUnq (2, −5) vkSj (−2, 9) ls lenwjLFk gSaA 

 Find the point on the x-axis which is equidistant from (2, −5) and (−2, 9). 

25. eku Kkr dhft, % 2 

                      °

°

72cos

18sin
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 Evaluate : 

                 °

°

72cos

18sin
 

vFkokvFkokvFkokvFkok    

OR 

 ;fn tan A = cot B, rks fl) dhft, % 

A + B = 90° 

 If tan A = cot B, then prove that : 

A + B = 90° 

[k.M[k.M[k.M[k.M    – llll    

SECTION – C 

26. fl) dhft, fd 3  ,d vifjes; la[;k gSA 3 

 Prove that 3  is an irrational number. 

27. ,d f}?kkr cgqin Kkr dhft,] ftlds 'kwU;dksa dk ;ksx rFkk xq.kuQy Øe'k% −3 vkSj 2 gSaA 3 

 Find a quadratic polynomial, the sum and product of whose zeroes are −3 and 2, 

respectively. 

28. p ds fdu ekuksa ds fy,] fuEu lehdj.kksa ds ;qXe dk ,d vf}rh; gy gS \ 3 

4x + py + 8 = 0;  2x + zy + 2 = 0 
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 For which values of p does the pair of equations given below has unique  

solution ? 

4x + py + 8 = 0;  2x + zy + 2 = 0 

vFkokvFkokvFkokvFkok    
OR 

 gy dhft, % 

1
2

3

1

6
;2

2

1

1

5
=

−
−

−
=

−
+

− yxyx
 

 Solve : 

1
2

3

1

6
;2

2

1

1

5
=

−
−

−
=

−
+

− yxyx
 

29. iw.kZ oxZ cukus dh fof/k ls lehdj.k 0265 2
=−− xx  ds ewy Kkr dhft,A 3 

 Find the roots of the 0265 2
=−− xx  by the method of completing the square. 

30. fcUnq (−4, 6), fcUnqvksa A(−6, 10) vkSj B(3, −8) dks tksM+us okys js[kk[k.M dks fdl vuqikr esa 
foHkkftr djrk gS \ 3  

    In what ratio does the point (−4, 6) divide the line segment joining the points 

A(−6, 10) and B(3, −8) ? 

vFkokvFkokvFkokvFkok    

OR 

 fcUnq A ds funsZ'kkad Kkr dhft,] tgk¡ AB ,d o`Ùk dk O;kl gS ftldk dsUæ (2, −3) gS rFkk B ds 
funsZ'kkad (1, 4) gSaA 

 Find the coordinates of a point A, where AB is the diameter of a circle whose 

centre is (2, −3) and B is (1, 4). 
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31. ,d eksgYys ds 20 ?kjksa esa yxs gq, ikS/kksa ls lEcfU/kr vk¡dM+s fuEufyf[kr gSaA çfr ?kj ek/; ikS/kksa dh 
la[;k Kkr dhft, % 3 

ikS/kksa dh la[;kikS/kksa dh la[;kikS/kksa dh la[;kikS/kksa dh la[;k    0-2 2-4 4-6 6-8 8-10 10-12 12-14 

?kjksa ?kjksa ?kjksa ?kjksa dh la[;kdh la[;kdh la[;kdh la[;k 1 2 1 5 6 2 3 

 The following data regarding the number of plants in 20 houses in a locality. 

Find the mean number of plants per house : 

Number of Plants 0-2 2-4 4-6 6-8 8-10 10-12 12-14 

Number of Houses 1 2 1 5 6 2 3 

[k.M[k.M[k.M[k.M    – nnnn    

SECTION – D 

32. ,d fØdsV Vhe ds dksp us 7 cYys rFkk 6 xsansa 3,800 #0 esa [kjhnhA ckn esa] mlus 3 cYys rFkk 5 xsansa 

1,750 #0 esa [kjhnhA çR;sd cYys rFkk çR;sd xsan dk ewY; Kkr dhft,A 5 

 The coach of a cricket team buys 7 bats and 6 balls for Rs. 3,800. Later, she 

buys 3 bats and 5 balls for Rs. 1,750. Find the cost of each bat and each ball. 

vFkokvFkokvFkokvFkok    

OR 

 nks ,sls Øekxr fo"ke /kukRed iw.kk±d Kkr dhft, ftuds oxks± dk ;ksx 290 gksA  

 Find two consecutive odd positive integers, sum of whose squares is 290. 

33. fl) dhft, % 5 

θ+

θ−
=θ−θ

cos1

cos1
)cotec(cos 2  
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 Prove that : 

θ+

θ−
=θ−θ

cos1

cos1
)cotec(cos 2  

34. nks o`Ùkksa dh f=T;k,¡ Øe'k% 19 cm vkSj 9 cm gSaA ml o`Ùk dh f=T;k Kkr dhft, ftldh ifjf/k bu 
nksuksa o`Ùkksa dh ifjf/k;ksa ds ;ksx ds cjkcj gSA 5 

 The radii of two circles are 19 cm and 9 cm respectively. Find the radius of the 

circle which has circumference equal to the sum of the circumference of the two 

circles. 

vFkokvFkokvFkokvFkok    
OR 

 nks ?kuksa] ftuesa ls çR;sd dk vk;ru 64 3cm  gS] ds layXu Qydksa dks feykdj ,d Bksl cuk;k tkrk 
gSA blls çkIr ?kukHk dk i`"Bh; {ks=Qy Kkr dhft,A 

 2 cubes each of volume 64 3cm  are joined end to end. Find the surface area of 

the resulting cuboid. 

35. ,d fMCcs esa 100 dehtsa gSa] ftlesa ls 88 vPNh gSa rFkk 8 esa FkksM+h-lh [kjkch gS vkSj 4 esa vf/kd 
[kjkch gSA ,d O;kikjh ftEeh gh deht Lohdkj djrk gS tks vPNh gS] tcfd ,d vU; O;kikjh lqtkrk 
mUghsa dehtksa dks vLohdkj djrh gS ftuesa [kjkch vf/kd gSA bl fMCcs esa ls ,d deht dks ;kn`PN;k :i 
ls fudkyk tkrk gSA bldh D;k çkf;drk gS fd og deht % 5 

 (i) ftEeh dks Lohdkj gks \ (i) lqtkrk dks Lohdkj gks \ 
 A cartoon consists of 100 shirts of which 88 are good, 8 have minor defects and 

4 have major defects. Jimmy, a trader, will only accept the shirts which are 

goods, but Sujata, another trader, will only reject the shirts which have major 

defects. One shirt is drawn at random from the cartoon. What is the probability 

that : 

 (i) it is acceptable to Jimmy ? (i) it is acceptable to Sujata ? 
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[k.M[k.M[k.M[k.M    – ;;;;    
SECTION – E 

¼dsl vk/kkfjr ç'u½¼dsl vk/kkfjr ç'u½¼dsl vk/kkfjr ç'u½¼dsl vk/kkfjr ç'u½    
(Case Based Questions) 

36. ik¡p o"kZ iwoZ uwjh dh vk;q lksuw dh vk;q dh rhu xquh FkhA nl o"kZ i'pkr~ uwjh dh vk;q lksuw dh vk;q 
dh nks xquh gks tk,xhA uwjh vkSj lksuw dh vk;q fdruh gS \ 4 

 Five years ago, Nuri was thrice as old as Sonu. Ten years later, Nuri will be twice 

as old as Sonu. How old are Nuri and Sonu ? 

37. ikuh ihus okyk ,d fxykl 14 cm Å¡pkbZ okys ,d 'kadq ds fNUud ds vkdkj dk gSA nksuksa o`Ùkkdkj fljksa 
ds O;kl 4 cm vkSj 2 cm gSaA bl fxykl dh /kkfjrk Kkr dhft,A 4 

 A drinking glass is in the shape of a frustum of a cone of height 14 cm. The 

diameters of its two circular ends are 4 cm and 2 cm. Find the capacity of glass. 

38. fdlh Ldwy dh d{kk X dh 51 yM+fd;ksa dh Å¡pkb;ksa dk ,d losZ{k.k fd;k x;k vkSj fuEufyf[kr vk¡dM+s 
çkIr fd, x, % 4 

Å¡pkbZ ¼lseh esa½Å¡pkbZ ¼lseh esa½Å¡pkbZ ¼lseh esa½Å¡pkbZ ¼lseh esa½ yM+fd;ksa dh la[;kyM+fd;ksa dh la[;kyM+fd;ksa dh la[;kyM+fd;ksa dh la[;k    
140 ls de 4 

145 ls de 11 

150 ls de 29 

155 ls de 40 

160 ls de 46 

165 ls de 51 

 ek/;d Å¡pkbZ Kkr dhft,A 
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 A survey regarding the  heights (in cm) of 51 girls of class X of a school was 

conducted and the following data was obtained : 

Height (in cm) Number of Girls 

Less than 140 4 

Less than 145 11 

Less than 150 29 

Less than 155 40 

Less than 160 46 

Less than 165 51 

 Find the median height. 

S 

 


